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� State the greatest common factor for each of the following.  (2 
marks)
� 16w4 and 24w3 b. 15x2y3 and 3x3y2

�

� Common factor each of the following.  (4 marks)
� 4x3 – 8x2y b. -12m2 - 24m + 36

�

�

� Factor each expression by parts.  (4 marks)
� 3a(b – 4) – 5(b – 4) b. 6xz + 10x – 3yz – 5y

�
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Name:  ___________________________                       Date:  _______________   

1. Factor each of the following trinomials.  (4 marks) 
a. x2 – 10x + 24    b. x2 + x – 12 

 

 

2. Factor each of the special products.  (3 marks) 
a. x2 – 12x + 36       b.   9x2 + 42x + 49  c.   100x2 – 121  

 

 

3. Factor the following by first common factoring and then factoring the resulting 
trinomial.  (3 marks) 
4x2 + 8x – 60 
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� Use reasoning to factor a variety of polynomials.



� You are now factoring superstars, name the strategies you have 
learned to factor polynomials.

�1� Common Factoring
�2� Difference of Squares

�3� Perfect Squares
�4� Simple Trinomials tpjuondnt

�5� Complex
- Decomposition
- Magic X

- Trial i. Error
.



Factoring

2 Terms

Difference of 
Squares

3 Terms

Perfect Square x2+bx+c

Magic Numbers

ax2+bx+c

Decomposition

Magic X

Trial and Error

4 Terms

Factor by parts

Common 
Factor

.

d
Product *

Sum

* Factor until you
can't factor anymore

! !



� Identify the type of algebraic expression and the factoring 
strategies you would use to factor the expression.  Factor fully.
6xy + 12x2y2 – 4x3y3

20x2 + 11x – 3
3x2 + 3xa – 2x – 2a
49y2 – 9
3x2 – 3x – 90
x2 – 13x + 42

|



6xy + Riy
'

. 4×35

�1� Common Factors .

Zxy

2xy ( 3 t 6xy - Ziy ' )

2xyf2aiy2t6xy + 3)
- Zxy (2×32 - bxy - 3)
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20×2+11×-3 - complex
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3×2+3×4. 2×-29
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3×2-3×-90=3×(2+-30)
P : -30

S :

-1=341-6)#

x2 - 13×+42 10:42

=(x - 7)( x. b)
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� Pages 236 – 237
� #6 – 13, 16*

-

Quiz Tomorrow
Decomposition

Magic X


